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Question Number : 1 Question Id : 719650321 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question



Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

X

The function /: R >R definedby f(x) = —— 15

o QBIDBS HbOWo

FRSR, f(x) = %
Vi+x

Options :

surjective but not injective

X.}oég_'.}o 0 @3§§c R0

1. %
bijective
&5?&)8‘3 2000
o
2. ®
mjective but not surjective
@@Sﬁo P B’Joé@e 5260
3.¥
neither injective nor surjective
B350 570, Doffer
4. %

Question Number : 2 Question Id : 719650322 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

=

; 7T
The set of values of e such that /R |0, — |

defined by
L7 2)

f(x)=Tan™ (x* +x+&’) is onto is

f:ma%iog], (%)= Tan™ (% +x+0* )P 26ga0DS Hibabo Goffdaiy ‘@’

| r 4

Options :



1. ®
(-1 1)
2. ® : % 4)
( -1} (1 )
—0,— || —=.da
2 L2 )
3.¢
-1} (1
— 00— | bl 00
LS A k_i o
4. %

Question Number : 3 Question Id : 719650323 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The expression for a, which satisfies @,=0. ¢,=land a, =a, , + a,_,VneN-{0.1}

from the following is

&2 808 RS 4, =0, a,=1 oW & neN-{0.}% a,=a,, + a,_

a, G 2806

Options :

2
1.
1{1+ﬁT_ 1 (1-47)
a2 ) i)
2. %




Bl2 ) B2

Question Number : 4 Question Id : 719650324 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Let B, C be n x n matrices such that A=B + C, BC =CB and C? is a null matrix. Then,
BAUB +(2021) C] =

A=B+C.BC=CB &basw C? Erady Ve @dﬁ)gmg._’w B Ceonxn ﬁ?@éw. SFONe
BB +(2021) C] =

Options :

A 2020
1. %

null zero matrix of ordern X n

Il X N OOTPEY) drdy Sl

2. %

A 2021
3.

2ot
4. %

Question Number : 5 Question Id : 719650325 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

a -1 —1|= a—1
If the system of equations | | —a -1 || v|=|a—1| is inconsistent, then a =
1 =1 —&||s o—1

a -1 -1|lx a—1
11 —a —1||y|=|a-1| 250 S0 ©lotitand, @i a=
|

-1 —-all|:z a—1

Options :



1. %

-2
2.

—1
3. %

"
4.% 7

Question Number : 6 Question Id : 719650326 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

For the system S of linear equations
X4y +z2=32Lqy-—2=3 x+v+dz=1

the incorrect option among the following statements 1s

X+y+z2=32x+2y-z=3, x+y+Az=1, Qoez SW¥Ies S350 S § Sobd Lddared’

To i) aa&;,ﬁo

Options :
S has infinitely many solutions, if 2 =—1
A ==188 § 0l FdSewT™) 0w
1. ®
S has no solution, if 4 =-2
A ==288 § PS5 S
2, ®
S has no unique solution for any real A
A0Sy, 0 RS DS 50 S & wBE P& S
3. %

S 1s consistent forall 4 € R

A e R o) aendes, S Jofite

4.



Question Number : 7 Question Id : 719650327 Question Type : MCQ Option Shuffling : Yes Display Question Number
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

%

: Yes Is Question

Let a, b € R and the roots o, p of the equation z° +az +5=0be complex. If the origin,

a and B represent the vertices of an equilateral triangle on the Argand plane. then

a.bER, 2* +az+b=0 JNITEEIS Srerw o, f ohs’el. Soroleded o, b e wges

S auf e Subimo 3TVD APIR , @R

Options :

a=b
1. #*

a-=3b
2.

a-=4b
3. %

a=3b
4. %

Question Number : 8 Question Id : 719650328 Question Type : MCQ Option Shuffling : Yes Display Question Number
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

" . - T T .
Assertion (A): If the arguments of Z, and =, are z and — respectively. then
o |

27

arg(zi1z2) is

Reason (R): For any complex number =, arg = =

4 - 5 " T ) 2r
QBYHBID (A) 1 F .z, © SO0 SEIP —, — wowd, arg(z1z2) =—.
. 5 3 15
N v g ow = T
sUedo (R) : o) 008 Domg = §I°, arg T= oy +arg =

The correct option among the following is

€4 $o&d DRYFUS DOGLIR

: Yes Is Question



Options :

(A) 1s true, (R) 1s true and (R) 1s the correct explanation for (A)

(A) He5g5%, (R) $¢935500 306050 (A) § (R) HOGeS 088

1. ®
(A) 1s true, (R) 1s true but (R) 1s not the correct explanation for (A)
. (A) Dgein, (R) 0gadm, 20 (A) § (R) 00608 D8 260

(A) 1s true but (R) 1s false

(A) D30, 0 (R) eoldbgadon
3.9

(A) 1s false but (R) 1s true

(A) ©dgin, 329 (R) Sdgdw

4. ®

Question Number : 9 Question Id : 719650329 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

If » is a complex cube root of unity. then

(1 \/?rrﬁ f1+\ﬂ

l\ —

37
4 5111UZ_; j+o) (J+(J )lin_

@, b;_sw’f}é 2u& 0050 D0 SNFrOB, i) 6

(1 RN 2026 % o
: ;EF} L1+;/:FJ + sin| Z '+(0)(J+())3HJ:

\ - j=1

Options :

=2



4. %

Question Number : 10 Question Id : 719650330 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

10 /10 10 ht
3 T [
Y47 | Xa+Xb
: 3 cos306+ 2 cos 20+ 5 cos 56 i "k L= e M
If-=¢'%and — : — = ey =8 =0 =
3sin 36 +2s1n 26 + 551 50 Zb 7 10
r=10
10
. r
i ZG..‘
: 3 cos30+2cos 20+ 5cos 56 et 1 .
- =e'? 6w T , ‘ =t BOWD, VR
3sm 360+ 2smn 20+ 5 s 50 b =
> 5
=20
F 10 10 %
[ a, + be'J
Vr =0 F=>0 _
10
Options :
0
1. ®
|
2. %
2
3.9
.
J
4. &

Question Number : 11 Question Id : 719650331 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



The curves y = x*+9x+20 and V=X +bx+c intersect the X-axis at the points
(@;.0). (i=12.3,4).1f o, <, < @, <a, be such that ‘al —a3‘ = ‘a‘z —a4‘ =8, then

the sum of all possible values of b and ¢ 1s

= X1 49x 420 26a0 Y=x"+br+e SESww X-omd) (@;.0). (i=L2.3.4)

2J0leHL 50 BoCeT®) 0.

a, —(3{3‘ = ‘az —a4‘ = @oéggcang O <O, < 0y <@, 6old,

Q0w b OGN ¢ © AOI B Dwdo A S

Options :

3.

4.

186

158

Question Number : 12 Question Id : 719650332 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

2 -
X t+ax+a 5 " ; : :
If ——— — takes real values for all real values of x then « lies in the interval
x“+x+l
X’ +ax+3
¥ Q) RS QS ————— PR DLudo S8, ‘@’ ol ®odo

x +x+1

Options :

(-2~ T2



Question Number : 13 Question Id : 719650333 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
- . ; b
If a,pf. 7.5 are the roots of the equation x*—8x’ +11x’+ 32x—60=0and

a<f<y<o, then da+38+2y+6 =

¥ =8 +11x" + 32x—60=0 cow¥; Sreren a, f. 7, § oA a<f<y<d,
WONG , WY 4a+3F+2y+0 =

Options :

0
], ®

1
2. %

5

3.¢

10
4. %

Question Number : 14 Question Id : 719650334 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
If the roots of x* + x* — 4x” + x+1= 0 are diminished by a or f, then the equation

with the diminished roots does not contain x* term. Then 12(a — f)* =

M+ -4+ x 1= 0XEGERRS PR o Sar f ¢ S0R, Shods sl (o
DEGE0E x? Do o, 53 12(a — f)? =

Options :



LY ]
|

1.v

105
2. %

96
3. %

115
4. ®

Question Number : 15 Question Id : 719650335 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Five boys and five girls are writing an examination in a hall in which 5 benches are
arranged 1n a row and only two students are to be seated on every bench at either of its
ends. If the seating arrangement is to be such that no two boys or no two girls sit
together as neighbours (a student should not have a student of same gender either on

left or right; immediate front or back), then the total number of such arrangements 1s

5 08 erendy, 5 ol erOEen D0E ool al TP 5 oo, & 200 ) WP Sl
oo SSuo BUG Haegdoen Sl Srdoydur 8 SO0 woeyD. iy B0 2re0d
S 2rOE SO FEVS S8 ) H00m (28 0T°g0 PENIDS PR, NEIDS D, Foddd
FSEPR, S0P, 88 DorisdnSH Dobd DWgd S 50ok) Goltir @008 BOiPgweE,
LR WaNOSUR) old Doy

Options :

28800

14400

480

4. %



Question Number : 16 Question Id : 719650336 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Let x denote the number of ways of selecting at least one ball from a bag containing 3
identical red balls, 4 1dentical blue balls and 5 identical green balls. Let y denote the

number of ways in which a student will fail in an examination, when he has to write the

examination in 5 different subjects. Then x +y=

3 208 D0 Y 200g0en, 4 88 DEIFoS Ve 2oL, 5 28 DEROS Dy et (U e
Qo 06 ED00 w8 oD JoDEIRD ATPTTL Jowg ¥ ODS G, § 2S) VROFLS” HO
PO Dargd, HOET B HTPTPL Doy ¥ @08 G, VYW X + V=

Options :

150

Question Number : 17 Question Id : 719650337 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

l o i 3 - 10 £ %)
For |x xE if the coefficient of x and the constant term in the expansion of

2x> +8xF—2x-2
(1—.r)(1+x)(1—2x)

in powers of x are / and m respectively, then /m=

1 2" +8x% —2x—2
co&x e —— T C ) a30es’ 1 fiete SO0 B D
2 (1-x)(1+x)(1-2x) i

SOSP [, m wond , ey Im=

X

%

L



Options :

6(1+2°)
1. ®

4(1+29)
2.¢

6(1+21“)
3. %

4(1+2")
4. %

Question Number : 18 Question Id : 719650338 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

. . . . 1-% /1/].0'.14 'I/' %1024_
The number of 1rrational terms in the expansion of (5 2+ 7 3) +(5 217 ) 1S

(5% +758 )mq +(5% —7%]1024 Ve FGHCDH e Dowg

Options :

396
1. %

129
2.8

513
3 ®

384
4.

Question Number : 19 Question Id : 719650339 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



4 2 1
If X +2::.1:+1 o Ko C i D pe E
{ael) (1) x+1 (x+1) |

Then A+B+C+D+E=

4 o e
Y +;'1"1 —=Ax+ B+ - i 2 D ~ + E @QJJ@,@XQ)Q@&
(x+1)" (x-1) x+ (xHl)  x-1
A+BHCH+D+E=
Options :
3
2
1. ®
7
2
2. %
5
2
3. ¢
0
4, ®

Question Number : 20 Question Id : 719650340 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

; , y . ,
If o is a oot of the equation 25 cos® 8 + 5 cos 8 —12 = 0, for 5 < @ < m, then sin 20=
T[ 3 . - W& att W,
E <a<m £25¢c052 0+ 5050 —12=0 S0E0er8 @ wf Srusone, SRR
sin 20=
Options :
-3
5



3.

Question Number : 21 Question Id : 719650341 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
. then cos® (B—¢) =

2| W

Correct Marks : 1 Wrong Marks : 0
and cos 26 + cos 2 =

If sin 20 + sin 2@
woNS, WYY cos’ (B—@) =

1D | e

sin 20 + sin 2@ = % 0003w cos 26 + cos 20 =

Options :
3
8
1. %
5
8
2.¢
3
4
3. %
5
4

Question Number : 22 Question Id : 719650342 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



If tana=2sin f siny cosec(f+y). then

tanor=2sin f siny cosec(f+y) wond, @&
Options :
cot A, cot &z, cot ¥ are 1 harmonic progression

cot 3, cot a, cot ¥ e (e 3G &) 0N

1. ®
tan ¥, tana, tan # are in harmonic progression
tany. tane, tan f ew (o8 36 exe) 0w

2.¥
cota, cot /3, coty are in arithmetic progression
cota, cot 3, coty e 0¥ FGS ey o

3 %
tana ., tan f. tan y are in arithmetic progression
tano, tan g, tany o ©of 3G ey ow

4, %

Question Number : 23 Question Id : 719650343 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The number of real roots of the equation sin®® x—cos™® x+2019=2020 in the

. ( 37 57
mmterval | —— J
22,

\

202 | ( 37 57)
sin?® ¥ —cos®® ¥ +2019= 2020 HNESEEIS ; - 32 3 J 0o’ o TPR Sorerw
A,
éo‘a’Dg
Options :
1



(%)

mfinitely many

50BN

4. %

Question Number : 24 Question Id : 719650344 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Consider the statements:

(I): If f{x) = sin(Cot™! (cos(Tan! x))). then 7 (0) = %
L 41 o Ik N
(II): 5111L4 Tan™ ——Tan =1
5 239,

ééﬁﬁ)‘f)rﬁ) 260 oss

(D: fix) =sin(Cot™ (cos(Tan™" x))) @owd, w & f(0) = %

: 23

(IT): sin L 4 Tan™ 1 Tan™ L ] =]

Then the correct option among the following is

g:;& edeS 395 331.1}0§0

Options :
Both I and IT are false
I 50080 IT Solo e0dg0

Both I and II are true

I 2086030 1T Bots K}@So



I 1s true, but II is false

I 3830, =R I 03850
3. ®

I1s false. but II is true

1 @5@50, e 11 KJ@%O
4. %

Question Number : 25 Question Id : 719650345 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

. oy | |
If x=Sech 1;+T31] h 1;- then cos hx =

- —

5.0 sl y
x=Sech 1;+Tan h 17, oW, ©) Y cos hx =

Options :

53 +4
‘1’

2.
A3 +3
“»
D
3.
4433
-
2
4. ®

Question Number : 26 Question Id : 719650346 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



In AABC.If a® —¢*= b(b—c‘),ﬁaz?b—c’ andR:% then b =
o)
T 1
AABC & a —¢ :Z)(b—c),ﬁn:2l?—c o0 R= woNd b =

S

=
i

Options :

I~y

Py

1. %
J3-1
J6
R
J3+1
J6
3. ¢
V3
2
4. %

Question Number : 27 Question Id : 719650347 Question Type : MCQ Option Shuffling : Yes Display Question Number
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

. . . P+b7
If A ABC is a non isosceles triangle and [C=90°, then ﬂw—bq sin(A—-B)=
I
a’ +b*

A ABC 28 %a0833d0 59 @abaze, [C=90° wownd, oxyd

—
ot

=T sin(A-B)=
ar—h° { )

Options :
1
1. ¢
2
2. %
0

: Yes Is



4. ®

Question Number : 28 Question Id : 719650348 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

. _'.‘% B T C
In any triangle ABC, cos’ o cos’ Fishacion
- 72 JAL 2 B ) C
) Sahase ABC &'3we, cos” =+ cos” —+cos>—=
=~ - 2 2 2
Options :
2r
1+—
R
1. %
5 1
2R
2.
( 7
2] 1+—1
STy
3.
( o)
214
" 2R
i |

Question Number : 29 Question Id : 719650349 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



In A ABC, the points P, Q. R divide BC, CA, AB intheratio3 :4, 2:5, 9:35,

respectively and the point D divides BC in the ratio 2 : 3 If AP+BQ+CR =kAD,

then (14k+1): (14k—1)=

A ABC &, 2doteden P, Q, R a0 BC, CA, AB 0 S03P 3:4, 2:5, 9:5 o

wotrow, D Dot BC 02 : 3 928 wobivod. If AP+BQ+CR =kAD wond,
oy (14k+1) : (14k—1)=

Options :

T35
1. ®

4:3
2.

4: 3
3. ®

3 12
4.

Question Number : 30 Question Id : 719650350 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

IfA(l 1.2).B (4. 2, 1)and C (2. 3, 5) are the vertices of a triangle, then a vector

representing the median of the triangle through A 1s

A(1.1,2),B (4,2, 1)00c0 C (2. 3. 5) w el Sadzo %gvuwé, &5 Seerds A ot
VAL 0850 Tl Do 28 D&d

Options :

37 +47 +5k

(1+2r]?+(1+%}}+(2+:)?

5 i



2ti + (Tt=1)j+5¢ k

0T+ 6 + 4k

4. %

Question Number : 31 Question Id : 719650351 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
If the shortest distance between the lines 7 =(37 +4 -2k |+¢(—7 +2j+ ) and
F=fE— ?f—l’?}'— s(i+37+ ZF\T] is equivalent to projection of P=—27 +11; on Q

. then a possible vector Q is

=
Il
]
=)
f
i
|
|
(]
1
_l
—-
i
+
(]
<
+
=
gi
e
5
=

"=(7—7j -2k )+s(i +3j+2k ) Swe

S0eg 809 &rde, Q @ P=-27 +117 DZr08 ogd®, Q SN H&d

Options :

i+357-3k
1. %

5t — T 43F
2. %

i+37+5k
3.¢

3i +5] -k
4. %

Question Number : 32 Question Id : 719650352 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



The vector equation of the plane contamning the lines ;:(f+;)+r(;+2}—ﬂ and

= () el 47— 3)is

= = —

P (i+7) +1(i427-F), F=(i47) (4 T-2F) Swud 506 e due How

e80g0

Options :
L A I o g
r. n=3, where n=i—3j—2k
r.n=3, n=i-3j-2k ©00nio
1. M

r.n=1. where n=i—j+2k

ron=1 n=i—j+2k ©ondyio

2.
r.n=0, where n=i—j—k
ron=0, n=i—j—k @003
3.¢
r.n=2, where n=i—j—k
r.on=2, n=i—j—k ©and
4. %

Question Number : 33 Question Id : 719650353 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Let a=i—2j+3k and & =2i + j + k.If ¢ is a unit vector such that | ab ;]
is maximuni, then ¢ =
a= i-2j+3k 00w b =2+ j+ k o505,

ORNFAE H&¥ wond, YW c=

Options :



1.
Nt
J6
0. &
2i—j+3k
J14
3. %
i+ j—2k
J6
4. %

Question Number : 34 Question Id : 719650354 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The shortest distance between the skew lines

¥=2 y¥-=3 E+3 x—=1_ y+2 z-4
| -2 1 apnd -1 3 2 s
K= p—=. S x— 4 Z—
orgsdmes T 2= I I gaqp XTI YH2_ 27 s S o
® 1 -2 1 —1 3 2 =
Options :
22
59
] ®
21
59
2.
31
59



Question Number : 35 Question Id : 719650355 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The mean deviation from the arithmetic mean of the discrete data

2, 7. 5,064,311, 17, 818

Cﬁfj_?”oéo 2.7.5.6.4,3.11,17.8 §e9o8 o‘i“ﬂﬁgﬁo Do oﬁ)ﬁ}gﬁﬁj Dweindo

Options :
17
1. ®
10
3
2.
37
2
3. %
9
4,

Question Number : 36 Question Id : 719650356 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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The variance of the following frequency distribution 1s

$ob Fdydy VeraTrOs Q0ySB

Class Interval

€989 2908800

0-6 6-12 | 12-18 18 -24 24 -30

Frequency

3)‘%53@:550

10 8 6 4 2

Options :



1.¢
30
2. %
11
3. %
20
4. %
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If A, B, C are three events of a sample space such that P(B)==P(A)and

D |

1 . . . .
P(C)==P(B) then which of the following is correct
2

| W

A, B, C w, a8 oS estus P(B)=2P(A)5060%w P(C)=—P(B) wcbgtn 3

b | —

2
D0AISOD, )y &8 Sobd RS W& Hesgn

Options :

w7 : .
P(AuC )= — when A, B, C are exhaustive and mutually exclusive events

13
P(AU C)=%, A, B, C o 478 $50050 D8535 6508 HotdSS i
& B
1.v
10

— =< P(B w C‘) <1 when A. B. C are exclusive events

10
— < P(BUC) <1, A, B, C e 2508 0628085

13



_ 7 :
P{C)= : when A, B. C are exhaustive events

P(C)=—

3 ® 13

, A, B, C o0 {P8 HoeoS38856

P(AUBWC)=P(A)P(B)P(C)

4. %
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. : : . |
E: and E-> are two independent events of a random experiment with P(E;) = 5 and

—

P(E:1w E2) = —. Then match the items of List - I with those of List —II

W | 2

E:1 B2 o0 8 0rdy)s 9oirtied’, P(Ey) = % P(E1UEy) = 3 P ), Botdd Do
: ' 3

iy

Dododen. ) e — 1 §'Q e ereier— I 'R PEded” 88 Giovdols

List—1 List—1II
N | ere)e— 11
&) P(E)- DA
B) P(E|E)= ny
C) P(E|E)= III) 13
D) P(EUEL)= v) Y
v K

The correct match is

HBGHS 2



Options :

A B 2 D
I11 II I Y
1. #
A B B D
I1I v I II
2.
A B & D
I1I IV II 1
3. %
A B C D
v III I II
4. %
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If E; and E» are two events of the sample space such that P(Eq) = % P(EV/Ez) = %

l

and P(E2/ E1) = " then P(E,/E,)=

1
P E =

(Ev) 1
Doth) AS0D, ey P(E,/E,)=

,P(E1/E2) = % ool P(Es/ E1) = % wabgew, E1, Exew Fo)D e338ees”
2 3

Options :

2.
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Correct Marks : 1 Wrong Marks : 0

A random experiment is conducted five tumes. If the number of successes of the

experiment follows binomial distribution such that the difference of mean and variance

of the successes is —. then the probability of getting atinost two successes is

O | La

w8 CIPd YR 8 RO S P BODWEID. ¥ AP W), VTP eddy QDS
D
QTR FPEIVT DDLU WoSiigain 000N Iy hdg Bl 5 Bowd, ¥ DA

v

S0e e90wEd Teldd T JDUo WO VeErSgE

Options :
64
81
1. ¢
32
243
2.
17
81
3. %
211
L. 243

Question Number : 41 Question Id : 719650361 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



If a random variable X follows the Poisson distribution with variance 3, then P (X =r1)
i1s maximunt, whenr =

2.8 ABrdyDyE Suore X, Yy 3 o rowesd Jeraird) 8i0Red, 8y, P (X =

1‘) E“{lf}xé}o S"é&)o@j, Tr=

Options :

0
1.

1
2. %

2
3.

4
4. %
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Correct Marks : 1 Wrong Marks : 0
For areal variable a > 1. consider the points Ax = (ka. ). k=1.2. .... nin the Cartesian
plane. If @ and S represent respectively the arithmetic mean of x-coordinates and the

geometric mean of y coordinates of Ay, then the locus of the point P(a, ) is

w8 RS WOTB a > 1 §, THIANS BoS Doldehe Ax = (ka. a¥). k=1.2. ... n
DOCieiTro. Ak © Al x AOFIFU ol W e <NOCIN ¥ AGFITL (e DT
SEOP 0 00N f Lowd, P(a. f) DetiedHs DetHie

Options :
2
2.7(‘ no+l
H}) == s
n
1. #
n+l
) ( 2%
1 = |
\n+1)



[ x° |

y =|

o ln+l)
3 %

y=n+D)(x—-(n+l))
4. %
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Correct Marks : 1 Wrong Marks : 0

By shifting the origin to the point (2. 3) and then rotating the coordinate axes through

an angle 6 in the counter clockwise direction, if the equation
3x7 4+ 2xv+ 317 —18x—22v+50=0 is transformed to 4X*+2Y? -1=0, then the

angle 6 =

0w Wotedd(2, 3) Dotdedhd Srdy, AWrdsmud 6 Sucdd’ odddzhdd” i
D00 3x? +2xy+312—18x—22v+50=0 JNE0eme 4X*+2Y -1=0, § Sraredilo

wobed , ea?'.g);o“;} Stio O =

Options :
TE:
6
1. ®
2
2.
T
4
3.
Ve
3
4. ®
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A straight line L = 0 passing through the point A = (—5. —4) and having slope tan 6
meets the lines x+3y+2=0and 2x+ y+4=0respectively at the points B and C. If

100 225 : ” : ;
E ~ = 4cos20+sin 28, then the slope of the line L =0 is
AC® AB-

A = (5. —4) (bowe FEP tan 0 reorr 500 &Sy V¥ 8w L =0, x+3y+2=0,

2x+3+4 =0 93 D0 Sapo SOre B. C © 36 Seouab.

100 225 ; 2
— - 7 = 4¢0s20+5in 260, ©owd, @ L=0 § aren
AC™ AB
Options :
2
3
1. #
—2
3
2.
-1
, 2
3.¢
|
2
4. %
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Correct Marks : 1 Wrong Marks : 0
The equations of the sides AB. AC and BC of a A ABC are respectively x—3y=0.
3x—vy=0.x+yv+4=0. If P and Q are the points on the line 3x— y+k = 0passing

through B such that PB: BQ =1: 1 thenk =

2.5 Sedzze ABC aeres AB. AC 005w BC & 080eeen SO0 x—3y =0, 3x—y=0
000K x+y+4=0.B ot &P 3x—y+k =032 P, Q e PB:BQ=1: 1 eecloger
DotleHuowe, iyt k=

Options :



1.¥

12
2.

-8
3. %

—12
4. %
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Correct Marks : 1 Wrong Marks : 0

Let A(1, 1).B (1. —=1).C (-1, 1) be the vertices of AABC. Let S be the circum-centre,
O be the orthocentre and I be the mcentre of the AABC. Then IS + OS =

AABC %?W.D A(LD.B(1,=1).C(—1.1) &%5e&. AABCS, S ?’-Jﬁgoéo, O Uo&ﬁo@o,
I @o@égo@o RS b, @@;}Cﬁ-& IS+0S=

Options :
4
1. %
2
2. ¢

B nfT
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If one of the pair of lines 4x” +6xy+ky” =0 is perpendicular to one of the lines
represented by 3x’ —35xy+21v° =0. then twice the absolute difference of such possible

values of k 1s

4" +6xy+ky® =0 BardiuifyosS w88, 3x” —5xp+2y" =0 JPred Swud el oS
ool &old, @l deoddy k uude DO oy Hweas Oélesy Dess

Options :

4
1.v

8
2, ®

90
3. %

12
4, %
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Correct Marks : 1 Wrong Marks : 0

The difference of the tangents of the angles which the lines

(tan’or+ cos’ @ ) x” —2xytan o +(sin” ) v* = 0 make with the X - axis is

(tan’a+ cos” @ ) x° —2xytan a +(sin’ @) v* = 0 Bew X — ©foes” M §ero

EroBotSu 53)(:)?3 23&o

Options :

1
2

1. #

2. %



3. ¢

o |

2

4.%

Question Number : 49 Question Id : 719650369 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If A(—1. 3) and B(5, 3) are points on a circle C and the chord AB subtends an angle i3

at a point P on C, then the equation of such a circle C is

A(—1, 3) 0050 B(5. 3) @0 Sy¢o C D DotDeHen SH00% 2Py AB, C D 2.8 Dotdeh) P
Nln % $'g30 Wilo®. oD, weral) 28 Syde C D8Se0

x* +y’ —4x+12y +22=0

1. ®
¥ +yt—dx—12y+22~0
2. ¢
+yt —4x—-12y-22=0
3.%
3%+ 3% ~12v 36y~ 66 = 0
4, ®
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Correct Marks : 1 Wrong Marks : 0



The mid point of the chord of the circle x* + 1 —6x+4y—12 =0 drawn parallel to the

tangent at (—1. 1) and at a distance of one unit from the tangent 1s

Y432 —6x+4y—12=0 S0 10 (—1, 1) B0t 56 HDS 030008 DSBS,
208 OIS (FoeS &Sy, Sy aPy g Dotidad

Options :
(3. 1)
\4" 4)
1. ®
(1 3}
4" 4,
2. %
=%
T
3.¢
(3 2)
53
e \53
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Correct Marks : 1 Wrong Marks : 0
If the angle between the pair of tangents drawn to the circle x* + 3> — 2x+4y+3=0

from (6. —5) 1s 6. then tan 6 =

X417 — 2x+4y+3=0 SHyT@8 (6, —5) Do HAS DO 0ardinto EgsEe 6
VOWD, WG tan B =

Options :
5

1% B
15
]
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Correct Marks : 1 Wrong Marks : 0

r1. 12 > 0 and 1if C;. C» are centres of the two circles having only two common tangents

and C1C2 =11+ 12, then which of the following is correct

Cole Coled &yl 030w (0 Toled SyTPw Sogren €, Cr o 0w C1Cr = 11+ 12,
I1, I2 > 0 900, @) 6 Sold *AS & Dgan
Options :
11, 12 are the radn of the two circles

I1, I2 Q0 Coled S )SP0 TP glPO°L0

1. ®
The common chord may divide the line joining the centres in the ratio 11: 12
SoruR SO @edyl ey I'1: 12 MDY Dafesosdedudd)y
2. ¥
11, 12 are always the distances of the centres from the common tangent of the
two circles
I1, T2 &0, oJQREF Dol SYTPw ey G 03830250 Somrw oW Ko Sroren
(e ] o L
3. ®
external centre of similitude divides C1C; in the ratio 11: 12
CiCiaabrs 83“&5"5 50@0 | R ) @Z.}‘bf% S 5}30&@30&
4. %
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Correct Marks : 1 Wrong Marks : 0
Let S=x"+3y"-6x—-6y+4=0 and §"'= x> +y*—2x—4y+3 = 0be two circles. The
centre of a circle of radius /14 and having same radical axis with either of S=0o0r
S'=0is
S=x"+13"-6x-6y+4 =0 60WS' =x"+1"-2x—4y+3 =0 w0 Told SyT°e.
S=0 So@ 5'=0 O B3I T 8d AFerEo 0D FgFTo V14 &Sy Sy Fogo

Options :

2.¥

(L2)
3. #

= 2
s [5'5J
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If y=mx+c is a common tangent to the parabola J-’2=4\/AT x and the circle

2x* + 2v* = [ then the product of the slopes of such common tangents is

}'324\/1?.? QOPSOOIrR8, 2x7+ 237 = b SYzr08 y=mx+c & eyl 0300w
oD, etuSatd eyt 0)E0PL TPV Lo

Options :

—2



.
2. % !
—1
3.¢
A.
2
4. ®
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If a normal to the parabola y* = 12x at A(3. —6) cuts the parabola again at P, then the

equation of the tangent at P 1s

¥ = 12x JoeS00ird8 A(3, —6) &8 ©8) wotve, DOPSLA), oder P & wolr, P
56 0300w wavEleoe

Options :

x=3y+27=0
1. ¢

x+y=45
2. %

y=x+9=0
3 %

3x+y=99

4, ®
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For k > 0, the shortest distance from a point P (1. k) on the ellipse

9x* + 437 —18x+161—11=0 to one of its directrix is

k>08 9x*+ 4y" - 18x+16y-11=0 &ISyB0 2 Dot P (1. k) Sow &0 20N
Sud 2wl 539 &rdo

Options :

3-45

1. ®
J‘I—\/—S_
R
9 -5
e
45
3.
9
=,
NG}
4, *
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2 2
- : £ s :
A tangent drawn at a point on the ellipse §+i_6:1 cuts the X- axis at a pomnt A. If

A’ Dbe the image of A with respect to the line y =x. then the circle with A A'as 1ts

diameter passes through the fixed point

2

%+%:1 B 308, 88 Dotiad) S8 HS D330 X-020), A Dot & wobiueb.

y=x, 0 Gyrg A 9 Doze A’ and, AA" @rglerr (o o ol 2O Doded)

Options :



(0.-4)

(0.4)
(0.0)
)
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Correct Marks : 1 Wrong Marks : 0

Let P (asecH, bhtanB) and Q ( a secg. b tang) be two points such that 6+¢J:%

2 2
X V

on the hyperbola —‘? = 1. If (I, k) is the pomt of intersection of the normals at P

2

a

and Q, thenk =

2 2

oabgiby ——2-= 1
o a_ b...

BDTSU0N0R Totw Do, P, Q © &6 ©eduow S el 2dotad) (I, k) wowe,

k=

P(asech, btanB)and Q (a secd. btang)ew 6O+¢=

NN
o

Options :
x g
a +b°
a
1. %
2 2
(a +b 1
\ a A
2, ®
2 .
a +b-
b
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Correct Marks : 1 Wrong Marks : 0
Let ABCD be a tetrahedron in which the coordinates of each of its vertices are in

arithmetic progression. If the centroid G of the tetrahedron is (2, 3. k) then the distance
of G from the origin 1s

0D 30I0 CwEy ArdTw wuldlS Golidotn ABCD af S&doya ©-%0emrad.
W& Sogiaro G (2, 3. k) Lo, drwedotad) ok G § v drdo

Options :
38
1. ®
7
2. %

Question Number : 60 Question Id : 719650380 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The angle between the lines whose direction ratios satisfy the equations

I+m+n=0and I =m*+ n* is

[+m+n=03500%0 P=m’+ n" HDESerudH Syd DOD &5 Dogew (v Jwe 03

§5EB‘0

Options :

2 | =



2.

T

4
3. %

T
sz O
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A plane II 1s passing through the points A=(0,0.2),B=(1.0,1)andC=(3, 1, 1). If

the plane 1 makes angles aand £ with the XY- and XZ- coordinate planes respectively.

.0 iy
then sm o+ sin" g =

éoo [l A=(0.0,2),B=(1,0,1) 68w C=(3, 1, 1) Dot ot ok, &2
Suo [ XY-000w XZ-30rdf dwrwed” S0 a, f o e, o)

sin“a + sin’f =

Options :
7
6
1.
5
2. % 6
0
3.3
1
4, ®
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It x5 B
x—0 . i I/ A N
S

Lafl+x7 )

Tan'x

Options :
1
5
] ®
0
2. ®
1
3.
-1
NG
4. %
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log(2+x)—x""sinx )

If ‘f(x}:;%i_lg B ) 0<x E%.;\'ER cthenatx=1, f(x) 1s

i ¥ .
. [log(2+x)—x"sinx )
Al T

\ /

XeR | wond, oy x =1

aE%

J(x)

Options :

differentiable
9585000

1. #

discontinuous
&&arﬁ )0



continuous

@&&L)n\ﬁ .0
3. %
continuous but not differentiable
VLD 0 T WLEVICDo W
4. %
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If f(x)zwﬂ and /() =L+ cothx + g(x), then g(x)=
e tan x fix} =¥l ‘

:(x+1)5111hx s s f'(x)

F(x) = +cothx + g(x) , ®owd, @\ g(x)=
e tan x fx) x¥l ’ J
Options :
— 4L ;
SI X COS X
1. #

2 — 2 cosec 2x

2. %
—2(14cosec2x)
3.¢
1
22—
SIn X COS X
4. %
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If ¥ = Sml tanx) .then |lo x—Sm' —G:] =
g
y Jdx
smx | dy

X = 3" (tanx)" wowd, ey | logx—
y Jdx

o

Options :

. y
cos x log v — sinx log (tanx) + cosecx —=

x
1.v
. > v
cosx log y —sin x Jog(tanx)+cos” x cosecx ——
X
2. %
COSK . o
— SIn"x sec x
X
3. ®
-
COSXY—X SsIn X secx
4. %
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: = / 2(‘]21'.-' d-l-
If 1—2 1—yv° = -V : —‘_2 : ) __2 ) ==
\/ 2 +\/ y" =a(x—y), then (1 X ) 3 +1 (l X ] g
\jl—xz +\/1—1-'2 :(.?(A‘—J.') BOND, VL))o (l—xz)2 dl‘v+y(1—rz) d_l -
’ ' ‘ ' dx
Options :
0
1. #®

:YesIs



v(l- ¥ )

3. #

\/l—x2 \/1—‘1-‘2
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The perpendicular distance from the origin to the normal drawn at any point on the

curve x=a(cos®+0sm8), y=a(smo-06cos0) is

x=a(cos0+0sin8), y=a(sin 00 cos ) S¥o D e Doted) S& B3 HIS WNETIS

aNPLEol6d) o Loy Grdo

Options :

ab

D8

4. ®
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If the semi vertical angle of a cone is 45° and its height is 20.025 cm, then the

approximate value of its curved surface area (in sq.cm) 1s

a8 $o80ad) 307080 457 OGN TR W& 20.025 o. N WO WA SEBO JFergds
(5. Ro. 0 0F) ~garowoR) WO

Options :

40172

1.

40132

2. ® 3
40173
3. %
(401.2) 7
4. ®
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If the Rolle’s theorem holds for the function f (x] =x"+ax’ + bx, in —1<x<1,

£1\
and f 1 =0, then ab =
\2)
51
f(x) =x"4 @’ & bx DA =1 Sx <1 S DEotho S63 SHOCH f{%) _0
oW, ab =
Options :
-4
1. ¢
—64

2. %
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- - . 9 .
The minimum value of the function f (\] =2x —]ﬂ‘x‘ .when x>1 1s

f(x)=2x"-In|x|, x>1 DO Y0o D005 EAQ L
Options :
1 _
—+log2
1. 2
2
2.9
4
3. %
2+log2
4. %
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(x—1) dx

(x+ DV +x7+x

If

= f(x) +C, then f(1) =

| G _ f)+C oo, oy f(1)=

Options :

=
A

1. #



2. %
21
a4
3
3.
Sn
4. ® 6
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cos x

ey _
IfI dx=—Sinh™ ( £ (x))+C then 2/ (x)
J4Sin? x+4sin x +5 2 ‘

J~ Cos X
JA4Sin? x+4sinx+5

i 3Sinh™ (7(x))+C o, @) 2(+

Options :

1 + sinx
], %

2sinx + 1
2.

4sinxy + 1
3 %

2smx—smdx+2
4, %
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0S X — 251 2 .
IfJ.ﬁCOS'T 25111xdwr:ix+4—ilog‘E)Slnx+ﬁcosx‘iC.(a:»O.b:sO)

bsinx+5cosx 41
d
then I—T:
b+ acos x
T, 3 _
JAGCF}S'Y "Smxdx:ix+“—zlog|bsiux+5c03:r‘+C.(a:>0, b>0) sand,
bsinx+5cosx 41 41
dx
W | ——m—m =
o le+acosx
Options :
( 3
5 [ 3tani+ 4—\@
qlogs 2 A2
- | 3tan=+ 4443
\ 2 )
1. ®
([
an —
2 | ]
— Tan™| = | G
N/ ]
\
2.¢ '
A
’ \ﬁ—tan% "
— log = | +C

V7 ﬁmng):

3. ®
N
X
2 tan—
- * -1 2
28mh |[—= |+ C
o X
l+tan” —
\ 2
4. %
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Ax +
+ C. then

If [(3x+2)V2x’ +3x +4 dv =f(x) . V2" +3x +4 +AS]’1]]1‘1(

(5]
. s

the ordered pair (£ (1), A) =

4

[ (3x +2)2x® +3x+4 dv=f(x) . V2x* + 3x +4 + A Sinh™

,
tad
M

) 06 &0t 0 (F(1). A) =

Options :
{73 23 ]
8 6442
1. %
[137 -23 )
32 6442 )
2.«
{15 =5
8 162 )
3 %
(@ 23 ]
L 3271642,
4, %
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If I, =

[ Ix . then Ly
—dx, —
o\,‘ﬂz—xz JT4

Options :



35a°
1. #
35
J—‘(ﬁ
48
2.
19
72
3 %
29
—(14
56
4. %
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Options :

5z

2 2

256
3.
16(5")
693
4, %
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Correct Marks : 1 Wrong Marks : 0

1s

The area (in square units) bounded by the curves |.:x| =2, 1| =2and xy <

ro | —

‘x‘: 2.

|
2
Options :

9+3log2
1.«

3+log2
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The differential equation of which x y = ge® +be™ +x7 is a solution, is

—_x o) o
xy=ae +bhe " +x° 8 PRI (fo S80S aECe0
Options :

X" =2y +xy+x’ —2=0

1. #

A2y —xtx +2=0
2. %

xy"+2y —y+ x2 -2=0
3. %

" +2y —xv+x° —2=0
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: . ; o s s W
The general solution of the differential equation DTV 4
g% 3x 5y +90

dyv _ x+Ty+3

— == 9% O0EGErQS el rS
dc 3x+5y+9

Options :

(x-3)*(y—-x+3)'=c(Gy+x-3)°

1. ®
(x43) (p—=x—3) =e(Sy+x+3)
2. ®
(y—x+3)'=c|5y+x-3
3. ¢
(}’—.1‘—?3)420 5)=+x+3|
4%
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If the solution of the differential equation xy'=y + x*sinx subject to the condition

Wm)=0is y=f (J\) and f(x)has an extreme value at x = « then

S80S DESEo v = v + x°sinx § Y1) =0 QONSTS S'208 rardes &S ¥ = f(x)

WNHEF f(x) § x = o & 9Bg0S DS GolS, WY
Options :

a cos o+ 2

T —
a:(2n—1)7, nez’

2. %



2

3. %

o = cot—
4. =
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Correct Marks : 1 Wrong Marks : 0

The dominant force experienced by an electron moving in a wire 1s

28 095" DSEroR VTS 'Sy De0s500S s

Options :
Gravitational
HoduB g 20w

1. ®
Electromagnetic

D5EI0HTy, o BIVSD

Strong nuclear

NNV EN DL SY
3 %



weak nuclear
WP (dyw) Sofds soeren

4. %
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If absolute error is 0.05 m for a measured length of 5m. What 1s the percentage error?

5 m B Feied) SO’ S0y DS B 0.05 m VoD FHRF SN woth

Options :

Question Number : 83 Question Id : 719650403 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0

The position of an object moving along x- axis 1s given by x=a+  t* where ¢ and f
are constants with appropriate dimensions and t is time in seconds. The average

velocity between t = 2s and 4s 1s 12 m/s. If & = 8m then the value of f 1s

£ . SPOS0ES x-¥o Totdl 3o 8l S0 TINE). PSS0D x=a+ F 17 1P adebIo.
QRN @ SH0AKW B e TPES SEPONEIN SIPEIP LD EDadHT) OW. PO t = 2s
SH005W 4s © Sdig HT=O0 it 12 m/s. a = 8m o f Deuds

Options :

;9
0.5 m/s”



2 m/s?

2. ¢
5
4 m/s°

3. ®
5 m/s”

4. E
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Two buses A and B are moving i opposite direction. Now if the first bus A moves
towards east with a speed of 36 Knv/h and bus B moves towards west with a speed of

18 Km/h then the bus B appears to A as

A 550050 B 0950 Dol 200000 wEIPUSTEED 3305048 SO0mR) ow. o3dEd 2oy A
36 Km/h sJtfadnes” r8o)edd3o SO0 200y B 18 Km/h aiebunes® Handy Gapaiso
SO0eQ. W 2050y B 030 200y A 50 S8 S0l DBS0P D008,
Options :
moving with a speed of 5 m/s from east to west

5 m/s 3tieS0ed” rdoy ol DESHEK Sy o

1. %
moving with a speed of 15 m/s from west to east
15 /s o3t5esnned” 08 Dols Srduy JB0 Sdened) o
2. ®
moving with a speed of 15 m/s from east to west
15 m/s o3t500e8" Erduy ol DESHGH ey e
3.
moving with a speed of 10 m/s from east to west
10 m/s S3t5eSwed” ety ol HESBEL Sowuehdasy 0
4. %
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A projectile 1s thrown mto air with velocity 15 m/s at an angle 30° with the horizontal.
After what time its direction of motion is perpendicular to its initial direction?

2
(Assume g = 10 m/s7)

awd DEDEIND 15 ms Jededned” 8ed22deirotd thersdned” 30° §'eaodn 3&5))55%}0 eSS
QRVOTE). WJot L5 BBITE TP CINE),. WISEHF 853 SOOI LoadSNTP af)olod
(g = 10 m/s? ©9:5%00%%0)

Options :

3 sec
1.

2 sec
2.

0.5 sec
3%

1.5 sec
4. %
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A particle 1s projected from the ground with some mitial velocity making an angle of
45° with the horizontal. If it reaches a height of 7.5 m above the ground while it
travels a horizontal distance of 10m from the point of projection, then the mnitial speed
of particle 1s

(Assume g =10 m/s?)

WrSo Dol ¥ KD S0 'O FiSwes EBulalredd &des” 45° Salw
JOL0SENTP DD IOLRIESD. S0 Eas BP9 Dol S 7.5 M e DOSD B

$8% Botiid) S0t LBe0aSTeBBSNT 10m GrESn HOrtodod, WXL & St C0E)
5O S3& D’
(g = 10 m/s? 0§ Hasw)

Options :

10 m/s

20 m/s

15 mv/s

25 m/s
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For a particle executing uniform circular motion

B K050 EOSD YT SSasnes® SO 2

Options :



velocity 1s transverse, acceleration 1s radial

’33(‘.555 AL INW oﬁ)od&}o@, @38\3"5 ¥ @5(\:}%0&1} oﬁ)oﬁ&.‘lofb

1.V
velocity 1s transverse, acceleration is transverse
936,55 EFS” a3t5aS0 a)etely, @(‘.1}55 &des 535{5830533 oﬁ)o@o&
2. ®
velocity is radial, acceleration is transverse
D9ezeg OIS 35S0, BB35 QIS B8t ofolield
3. %
velocity 1s radial, acceleration 1s radial
D9eg OIS oIdadn, @9ery OIS B0E50 of)otoedd
4. %
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In the pulley system, the mass of ball is 1.2 times greater than the mass of the rod.
The length of the rod 1s 50 cm. The ball is set on the same level as the lower end of
the rod and then released. What is the acceleration of the rod with which it comes

down? Assume the pulleys and threads are massless and friction force is neglected.

(Use g =10 m/s?)

8.8 §20)) Sg5065 0o (355078 o GIvy, (55078 ot 1.2 OEY aolouod. ¥& arcéad) S0 cm.
800€3 500050 ¥l OR0%y E3t5sS 8K S PO Gotitad T W SHOTE. oNd & 56
odo®d BglEaasned” Sofd Ioehied. L OO HOCKN EPESHL g GdsorHen
&8 006 SHOOKN DGer 206D Gadokeb.

(g = 10 m/s? rP 3508 Sa5w)

LXTHH

®
1 .2
Options :
4m/s
1. *
3m's
2. %
2m's
3. %
5m/s
4.9
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A particle having kinetic energy K 1s projected at 60° with the horizontal. The kinetic

energy at the highest point 1s

G 8 K 8o 28 5dnd 2Dmdsredssnd 60° $osn Sousty HaHSm
DODBESE). 95 € eJotiuad) 8569 & Kea (iedes 8 odod

Options :
K
|, ®
Zero
TP,
0. &
K/4
3. ¢
K/2
4. %
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A bullet of mass 711 1s moving with speed Vv, hits a sand bag of mass m,. If the speed

Vo

of the bullet after passing the sand bag 1s . then the height /i up to which the bag

w‘

T1Ses 1S

(Assume g = acceleration due to gravity)

My B5g0°8 (L ¥ BG V, Sfisned” DONREIr my GSg0°80 $OS el 808 Do

8o, &1 0T IV, IS0 BE Do BooG® HOITHeRS BT ‘Tﬂ P 2506 200

Z0E Hod woh o-)‘i:'?) I 30 GoBoetioby.
(g = ooty B0 WETPEW)

HEIEELIIE LI
AV ¢
Bullet v, Sand Bag
O— Fraos e
my m;
Options :
1 [ 2m v, )
h=—o |
2gl 3m, |
1LY
2 ¥
fr=
3m,
2. %
1
h=—:
2g
3. %
|lr \'2
[ 2m, v,
h=|—
\ 3m, |
4. ®
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From a uniform circular disc of radmus 2 cm (its centre of mass is at ‘O’) a circular

portion of radius 1 cm is removed such that the shift in centre of mass i1s maximum.

The disc i1s now rotated by an angle 8 about an axis perpendicular to its plane and

passmg through ‘O°. If the magnitude of displacement of new centre of mass 1s
1

NE

cm, then the 6 1s

28 DEOS Sy 2 Iy Pg g 2 em (P Ged30°8 Sofiin ‘07 B¢ aHIy &). &t
Y S1ob 1 em g 3 el HHTSE SN SO °Q alng)y BSg0°3
SoQsin (HORSNT DFDISN Delel. &2 Wg SUPAS UogdSVT SOk ‘07 wryoe
FaPHhdy ¥ wEi0ed” B Seadn Hoiden S8 DY HOGJSEIsn Belhtoh. oD §'¢

. 1
553578 Sodadon Al wPSefod DHOSIESD —= em oS 8 D

3

Options :

30°
1. ®

45°
2. ®

60°
3. %

120°
4.
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A ball of mass 2 g released from the top of an mclined plane describes a circular
motion of radius 20 cm 1n the vertical plane upon reaching the bottom. The mimmum

height of the inclined plane 1s:

2 g (53078 (0 28 oD auf TP So GINE D @SN el DGO WBVSLOND b
e9Cr0gIPt350 WB008 20 cm PgFESN (U SYTPS SIGang” Qe Buod IO
& P BLo AIEy. S0 I

Options :

20 cm
1. ®

10 cm
2. ®

50 em
3.

60 cm
4. ®
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A small sphere of radius r 1s placed as a concave surface of radius of curvature R a
little away from the centre. When the sphere is released, it oscillates. Assuming the

oscillation to be simple harmonic motion, and r << R then the time period is

R S5 aegrdadn (90 8 3E5°0 &00BU0 GIE) Sofeddd ol 1 dPgPPGasn KL 28 D),
(TFI0D §o89 BPGeS 9)odeatcdd. (TFIND SQOOB 8 Cuaren JIF & oD
DEFEPTPH) & FOIDAP 8°DR 20050 1 << R 90008 t°0) Gl0E), 9GS 57050

Options :

(]
=
e 7]



27
2g
2. %
2R
27
3g
3 %
2r s
2
4. ®

Question Number : 94 Question Id : 719650414 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Find the acceleration of our galaxy, due to the nearest comparably sized galaxy. The
approximate mass of each galaxy is 8 x 10! solar masses and they are separated by

2 mullion light-vears. Each galaxy has a diameter of 100.000 light years.

2

Nm

|

(Assume 1 light year = 10'® m, Gravitational constant G = 10_10( and

kg

mass of sun =2.0 x 10°° Kg)

303 POLBS” HOFLY BAS HOSTESN FO FO SUS EON S0 POYeh v
IS0 Beflovdole. GEPONLRNT DA PLRet gy $550°8 8 X 101 FBUSsorHD
SoO05 S8 Tolld wEPISED 2 OO (D0 VEeN)mPe? Jodthorw Grded &
WOH20GaIR. 0B PO GlwE), TPg0Sw 100,000 Fod Hoddthyoren.

Nm~

ngz

{

(1 Po® DodyS80 = 10 m, K8 d0°esSw G= 10717 ]353@05.1}
5

85078 = 2.0 X 10%° Kg ©350e°5w)

Options :

4x1072m/ s

1.

2x1072m/ s*



5x107Pm/ s*

5x107Bm/ s?
4, ®
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The average depth of an oil well 18 2000 m. If the bulk modulus of oil is
8 x 10® N/m? and the density of oil is 1500 kg/m®. The fractional compression at the
bottom of the well 1s

(take 2=10 m/s?)

af B0 (wowd) g7 Al Jricw Sty 2000 m. oS Suo GluE) oHL thesssn
8 x 10° N/m* £00kn @oo Foded 1500 kg/m’. ©wowd s clwd), edordertisn &
$900 D08CecS506S" S 500 (27°¢550) oo

(g=10 m/s? $08%6)

Options :
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Consider a steady flow of o1l in a pipeline. The cross-sectional radius of the pipeline

e 1 _ : ; .
decreases gradually as r=re ™ where o =—m™" and x is the distance from the
— - 0
2

pipeline inlet. If R; 1s the Reynold’s number for a certain pipeline cross-section at a

distance x, meter from the inlet and R, is for distance (x; +3) metre, then the ratio

28 (TOS0 TP0° a8 BLo QP DSFVd. 7'=re " Qredditn & T&o ang)
GRS THFOI0 BB, GHE a=1m HOGM x ©HB o CLoy
3
DIIFIBB0 $ob BO BFESD. DI SFGSD Dol ¥ DG ErSeS KL & T
G308y, 35365553‘)0‘50 (G3IbL78 6@1%? Doy Ri <bOGSw (x,+3) ot &rdetS o 5@*’%’5
Rl o

Yoty Rawowd = DY odo
2

Options :
1
_ e
1.¢
e
2. ®
1
€3
3. %
1
]
€
4. %
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Newton’s law of cooling 1s a special case of

IPgrS BSOS QA0 S8 §obb TS BOS HRDgE DotiB

e
Options :

Wien’s displacement law

55:} ?&Séoé JO3e0
1. E

Kirchhoff’s law

§O’°&.§J RO
2. %

Stefan’s law

PPl AOLe
3¢

Planck’s law

;I"og Qoo
4. %
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How much thermal energy is required to change a 40 g ice cube from solid at —10°C
to steam at 110°C.

[Assume latent heat of fusion for water = 80 kcal / kg,

specific heat of water= 1 kcal / kg °C.

specific heat of Ice =0.5 kcal’kg°C ,

specitic heat of steam =0.48 kecal / kg °C .

latent heat of vaporisation of water= 540 kecal / kg °C ]

—10°C & 60 40 g 0w £ YD Dol 110°C HE3 WAOTP STE3STS oI
Joth &0 45 BS0TEN WaHTok).
[DE5 B3ede3a5<3 ¢chugrsesn = 80 keal / kg,
Qe DRIrpSn = 1 keal / kg °C,
00wl 3NS50 =0.5 keal/kg°C,
A3 &0 0B3YQS0 =0.48 keal / kg °C,
D3 PSS 0drRaSn = 540 keal / kg °C]
Options :

29.192 k cal

1. v

40.288 k cal

35.188 k cal

30.188 k cal

4.%
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In the carnot engine when the heat is taken from the source, then the temperature of

the source

a8 S""C.DJ:‘}_’ Cii)o@c:ﬁl)@‘s ot t%o.} WS ol §oth oif“ o, & 3% O?AD§&_ i%%ﬁ{\j@ﬁ

Options :

remains constant

033°0806T° VO 0ot old
1. ¢ N
does not remain constant
RG30TP a3)oteld
2. %
decreases
508066
3 % L
mereases
S0E
4. %
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In an ideal gas if the masses of all molecules are doubled and their speeds are halved,

then the ratio of initial and final pressures of the gas 1s

¥ @00y TrOi0HS ©R) WEMHL CINY) HdgTPHLY T¢fon) WONSD TPE FPLL Hfadw
OO, LI & T°CiNag) CINEY. &80as SO Wotds (VB0) HTre NS
Options :

o |
| i

4:1
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An engine sounding a whistle of frequency 2000 Hz is receding from the stationary
observer at 72 kin/h. What 1s the apparent frequency of the observer? The velocity of

sound 1n air 1s 340 m/s.

2 O30 3D H0h0 ChEy, S R0y, TSIz 2000 Hz &5 0fogasd Qy0Rde
DSy, 28 HOIOHD So6s 72 k/h Fikoes® IIEH PO e, Lawd Dot OI
g FSYSg5m. PO a0 350> 340 my/s 1P S08"Ka%0.

Options :

1889 Hz

1.

2889 Hz

3889 Hz

4889 Hz
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An object 1s placed at a certain distance left to a convex lens of focal length 20 cm.

Find the distance of the object if the image obtained 1s magnified by 4 times.

28 S500H% 20 cm ToeTgetde MO 28 BoETSS E¥odiSy i J30) o Hrdsine
GoudtnGed®. 283 Dedelozain 4 aege‘f &e5050 WobdD & a5ed) ATy, CrdaSn wo

Options :



25 cm when the 1mage 1s real

VRV LIAENNY 2900 25 cm

1.V
15 em when the image 1s real
88 2eoa0ss0 @O0 15 cm
2.
25 cm when the mmage 1s virtual
Gy NB&ozedn o 25 em
3 %
10 cm when the image is virtual
0GRy DB2czadn wowe 10 cm
4. ®
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Which of the followmg statement 1s incorrect?

&5 806 TPEIS’ o PAIES DOGDIE FC.
Options :
Dispersion 1s maximum for violet colour

QUEEFS Soth 00Ty, DEDESD (O[S0

Red light travels faster than violet light in a medium

QETPSEI0ET” 0I5 o ALESErEY Poed Kol3 J5SrP HOSIPEse WO

2.

In vacuum red light travel faster than others

EPIgeSes’ oIBIRY) o 90 o) 5ol a35S0rP HOSTEe Wiel



Refractive index of violet light 1s higher in flint glass as compared to crown
glass

QU o GRSy, SEAISS (oEasSn Pl rPee T rPw $o€3 80y

4. ®

Question Number : 104 Question Id : 719650424 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Identify the incorrect statement:

&3 806 PAFAIVS DO 6 2 BK00od0bs:

Options :

the fringe width in a Young’s double slit experiment reduces when the width
between the two slits increases

ONeh) 2ol O HAIPHENG” Totdd MOS0 Sdy a3ieny M eI
Q53 DEE S0t S5

1. #

the central fringe observed for in a single shit diffraction experiment 1s a bright
fringe

2wt IOE DSBS HOTPBLE” Bog§ HEF 030 28 CogB0h D3

2. %

the resolving power of the microscope is reciprocal to the maxinmuum
separation of two points seen as distinct

DETp Gy DYOF O FAGgESn DI Told LotHOD VDT
SPEHON P oy (0K wIboriB D' EPDPES” ool

3. ¢

polarisation phenomenon 1s observed only for transverse waves
oadgadn @ ¥ GY0NCNS0 S A0S BOrLRH S
003D 0uie0806

4. %

Question Number : 105 Question Id : 719650425 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The electrostatic potential inside a charged spherical ball is given by @ =ar’+b.

where 7 1s the distance from the centre and «. b are constant. Then the charge density

inside the ball 1s

( &, = Permuttivity in free space)

0¥ UIFIPOB TOOD 200B CVE, VS A3D FEIONS (FKy50) o=ar’+b >
BSIGD. BEE 7 O S0 Souls ('Y EHOBLI Erden DO @, b o
DOPoSSVN. & (TS50 DU fio w3d WPoled oot

o

(&5= Q)BT+ HOYEINLT)

Options :

—6agr
1. ®

— 6ag,
2.

— 24 ag

3.

—24 wagyr
4. %

Question Number : 106 Question Id : 719650426 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



A thin metallic spherical shell of radius r contains a charge Q on its surface. A point

charge ¢, 1s placed at the centre of shell and another charge ¢, is placed outside the

shell at a distance x from the centre. Then the forces on charges ¢, and ¢,

respectively are:

7 aPgPESD (o el DL ST Tl S8 08w Glng), GI0BOSIN 2 O @addin
0Dol. 8¥ G Bolth WIFS50D & ¥E 8o CIuE) Solield S SO0k CE g, SIFS0D
& 553G Sogd¥alin ols s0PlP g X Grdets a)oRdrd). WoNd ¢ HOOW ¢, SITO D
9 20EPL0 BT

Options :

1 ¢ 1 ¢+¢q

q

=
4;2'50 I 4;&5{} X

1. #
1 ¢ 1 ggq
s 7
4330 r 4&'6‘0 x°
2. %
Zero, e %
de, x
o, {:’2 Q
it 3
drs, x
3 %
[ +
Zero. B B qql
4.?2'80 x
: O+
ey 4, L 2‘3"1
dre, «x
4.9

Question Number : 107 Question Id : 719650427 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



There are tour bulbs of power 100W, 200W, 500W and 1000W. Among these whose

tilament has high resistance?

(Assuming same voltage source)

T a0 Glogy, PSgge 100W, 200W, 500W 5005w 1000W e ahvey ow.
D" o) Boehed) $50% AT BB § Hotavod.
(ST 8ITFL0 O &S G550 ©NS)

Options :
100W bulb
100W zoe_'ig)
1. v
200W bulb
200W aae'?a
2.8
S00W bulb
500W 20ed
3. % E\J
1000W bulb
1000W B‘Jéé)
4. %

Question Number : 108 Question Id : 719650428 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In a meter bridge two gaps in the metallic strip are connected by 3Q and 9Q
resistors. What should be the value of shunt that needs to be added to 9Q) resistor to

shift balancing pomt by 25 cm?

28 b WG Ko af S VS to Both arPOD 30 Koo 9Q AT GS0LS
EDaardn. €8 bl OVIVL:7 DotV 2oladdd 25 cm &’Jg?‘fﬂ&ﬂc Wolrrueld 902
ATTIS 0doh D005 BN Deld AT HSN Uard.

Options :



1. %

350
2. %

45 Q
3.¢

5.0 08
4. %

Question Number : 109 Question Id : 719650429 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A current I tlows 1n a straight wire bent i the shape of a quarter ring of radius R as

shown 1n figure. The magnetic field induction (B) at point O 1s

DEIS0ET \ﬁj“i)ré%ﬂ 2l A< &5 R J@Dgc&a B0 2u¥ S0 wsGees EBNENEGY
0DeCedSEn SoT*). O ol Fad) DD DaPraln I 9o O eothad) S¢ @0k o
£ Voasn (B) veudd oJoth

Options :
i, 1
4R
1. %
111
~ 8R
2.¥
il
2R



1,1
6R

4. %

Question Number : 110 Question Id : 719650430 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A particle of mass m and charge ¢ 1s moving m a cyclotron with magnetic field B. The

frequency of the circular motion of the particle 1s proportional to:

28 D50 & B 95 @00y oBEBS0S" m ($a30°8 200050 ¢ &3dSn SONS ¥ Stassn
IODWaHS) & 0w S Keao AINE), SYTE WSS GV, Frd)dgdn &2 Sobd I°edes” B8
LEATS NN oé)oﬁl}oa)

Options :
gB
m
1.
21
qB
2. %
mb
3. % q
mq
B
4. ®

Question Number : 111 Question Id : 719650431 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A bar magnet having magnetic moment M 1s bent as an arc. Its magnetic moment

M @0lF o gl MU af ool o) a8 SyBurdeinrP dovdenldit.
SO NI AL VT OV NS R R VN VERLY

Options :



decreases

(/g Vui ATl
1. ¢ '
inereases
FY@ Vg bl MICTA
2. #
does not change
SO0
3. %

may increase or decrease

BB ST D

4.%

Question Number : 112 Question Id : 719650432 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The magnetic field at point P of given figure due to carrying of curent I by a

conductor of radius R, 1s

R g P850 NS 88 TP (0o HEotS Sty HiogS 1 HSTriuon. & DS

SO P 2ol50e) S5¢5 oIS )G O5RFY o8 ZLH50

-
-
-

Options :

1M

dnr
1. E




1,1

2nr
2.¢

LI

2nR
3. %

1,1

4R
4. %

Question Number : 113 Question Id : 719650433 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following components of an L—C—R circuit, with an AC supply.

dissipates energy?

L—C—R 005065 Qo8 S'JeS° 805000 DS & S00HS0S b3Sy 38
o) DGEFEINS Botiod

Options :

only L

L &g
. %

only R

R &ghad
2.

only C

C Srgsd
3. %

LandC

L 50asn C
4. %

Question Number : 114 Question Id : 719650434 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Consider a parallel plate capacitor which is maintained at potential 200 V. The
separation distance between the plates of capacitor and the area of plates are Imm and

20 em?’ respectively. Calculate displacement current in 1 115 .

|£,=8.85x10" F/m ]

8 DTS HOLL TPVLE 200 V g (550) S HOD08. T Doge S
5B 0050 HOEL JFLrgen SEOXTP Imm S0k 20 em?’. wond 1ps oS o
PSafod DD wod

[ £,=8.85x10"F/m |

Options :
3.5 mA
1LV
2.5 mA
2. E
1.5 mA
3. %
0.5 mA
4. %

Question Number : 115 Question Id : 719650435 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The de-Broglie wavelength of the electron in the first Bohr orbit of the hydrogen atom

18

ey DESITEae)) CInE), S0ied o0 SE 5T e Qg gy G- SOaindgSn &t
STATVEW G HATVE RSNV
Options :
equal to the diameter of the first orbit

0C5ED g Gy, aTPgi0sSSE0 HTmesadon



equal to the circumference of the first orbit

0D §Xg Ty, 3¢9 DHOBS DTS

2.

equal to the half circuiference of the first orbit

T0C5E3 ¥xg GO, S HOBES” ST DTS

independent of the size of the first orbit

F0CHE3 $g CI0), DO D LEREHED

4. %

Question Number : 116 Question Id : 719650436 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In hydrogen spectrum if the shortest wavelength in Balmer series is A, the shortest

wavelength i Bracket series 1s

wé TGRS DOSTEY SGDEBNS” wPSrS FS K00 BtiRYgSn A wond sl
BT EAQ BoriDIgn wdo

Options :

/i—
1. #

A

2
2. %

41
3.

94
4, ®

Question Number : 117 Question Id : 719650437 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



A radioactive source has a halflife of 6h. A freshly prepared sample of the same
exhibits radioactivity 32 times the permussible safe value. The minimum time after

which i1t would be possible to work safely with the source is

& OGOIrmr0s @cife gy ©@0eidd LS 6h. &8 Jroe Dol @DYEIEQ Y

BOSrEIICNeGES IrS DSBodenls WOED Vv Kol 32 Ody BEOIFEPO ESS

D030k, WONS 0J0¢9 EDD 0500500 EHBITPEH St 23:35500e5° B E EH30MP DADOHELSH
Options :

30h

24 h

2. %

18h

12h

4. ®

Question Number : 118 Question Id : 719650438 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



In a Zener regulated power supply a Zener diode with V, = 6 V 1s used for regulation.
The load current 1s 4 mA and the unregulated nput voltage 1s 10 V. To get a Zener

current five times the load current the value of series resistor Rg 1s nearly

2’0 OB F'Ces DODT® DOZGSNS” Woees S0 V, = 6 V )y &6
GOIPGED TG, 878 A6 Ge @PY0° DD DIrdrady 4 MA 20050 V0NeBE 0 Dadd
S 10 V. 278 eogd Darrirradn $old 8870 Harirain 5 OQUIP o)oletwotd 38 QTGS

R €08 odoth a)oGee)

I

N
—e

Options :

150 Q
1. %

167 Q
2.¥

175 Q
3. %

159 Q
4. ®

Question Number : 119 Question Id : 719650439 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Identify the equivalent logic gate for the followmg circuit

&1 800 BSIGS SO0 Ty, OSSR 85, B30 Ho0osSel

A
Y
B
Options :
AND
1. #®
NOR
2. %
OR
3.9
NAND
4. %

Question Number : 120 Question Id : 719650440 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The modulation mdex used in amplitude modulation of a message signal of peak
voltage 10 volts 1s 0.5. By how much the peak voltage of the carrier signal be changed
s0 as to obtain the modulation index of 0.8, keeping the peak voltage of the message

signal same as before.

28 LDHOD SPCHITRS TN VB VoSt CIvgy w6 ST 10 Fgnen SHo0Kw
B TS SPEOITNS APD DEVS 0.5, 008 DSBS CINE, 3BS STesd ST S0C,
STE30RS BPD 0.8 DLOSH FoBEHD THPE DoIB K, WO STes oSS
S8 NSO,

Options :



increase by 7.5V

7.5V o®

1. ®
reduce by 7.5V
7.5V &lord
2.¢
increase by 12.5V
12.5 V 2o
3. %
reduce by 125V
12.5 V &howrd
4. ®
Chemistry
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Number of Questions : 40
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Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 719650441 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which sets of the d- orbitals are directly oriented towards the ligands in octahedral

coordination compounds?

UFEPGS DSI0N D TTLS ) 1% d-woytrden SrreGen Sy ¥ St
&olIPOW

Options :



do_ s and d,,

By u-S000008 dy
x* -y }

1. ®

d_,and d,

d_, Soaww dg,
2% F

d,,and d_,

d, <ookn d,
3 %

dxz_}_.2 and d22

d, , ook d,

A .

4.

Question Number : 122 Question Id : 719650442 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What 1s the total number of electrons present in one mole of ethane?

wE S SBISTD Ao JUFTIOL Dogdg

Options :

6.022%x10%
1. %

10.022x10%
2. W

108.4x10%3



1.084x10%

4.%

Question Number : 123 Question Id : 719650443 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following atoms is the most electronegative?

800 DESTEHUS BBHE 20008 DEGESBLES SOOI O?

Options :

O
1.

F
2.

N
3. %

Cl

4. %

Question Number : 124 Question Id : 719650444 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What 1s the effect of lanthanoid contraction 1n lanthanoid series of elements with

increasing atomic munber?

G - = s o6 r =
DS Doy DONED, LredSb DrUFLES eredSt VoS Darde o O
Gotal
Options :
Decreases 1n atomic radi

DGeSTER TegeCo @{jo&"a:o&



Increases 1 atomic radiu

08e5T°E0 @T@%ﬂ@o R0V /@ Bl bR

2. %
Decreases i melting point
Qdededed Garied Sehothed
3. %
Increases in melting point
(ENNIVEC R eV oV b ETAY
4. %

Question Number : 125 Question Id : 719650445 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Find out the hybridisations of C!, C? and C° labelled carbon atoms in the given

T 22 3F
molecule H-—C=C- E:C =85

LS

H—~C

1 2
C— ]I(__; =C=CH, o) Send Sobwbs €l C? 00k CF o 88 030

DEATER Cfll.)gz’_ 'ﬂoé@&éa‘a%; ﬁ&@oéo&

Options :
C! i G
sp sz spz
1. %
L 2 2
sp :-;p2 sp
2.
C! C? e
sp sp sp



Question Number : 126 Question Id : 719650446 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Increasing order of dipole moment of following compounds

&8 5ol Fadgantead Dalay ¥orw) GRS, OIEIS gPE3n 200 o

CH; Cl Cl Cl
sHlles
Cl
Cl
® (i) (iii) (iv)
Options :
(iv) < (1) < (i1) < (111)
1.
(1) < (1v) < (1) < (11)
2. %

(iv) < (iid) = (ii) < (1)

(111) < (1v) < (11) < (1)

4. ®

Question Number : 127 Question Id : 719650447 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



The rates of diffusion of SO;, CO», PCl; and SO; are 1n the following order

SOz, COz, PCl5 50050 SO3 Gy, 003068 B 68 300 adotrow.

Options :

CO2> SO, >PCl > SOs

1. #®

PCl3= S03> SO: = COs
2. %

SO > 803> PCl=>COr
3%

CO2 = SO> > SOs3= PCls
4.9

Question Number : 128 Question Id : 719650448 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The mass percentage composition of dry air at the sea level is approximately
Nz :63 %. O2 : 16 %, Kr : 21 %. If the total pressure 1s P atm, calculate the partial
pressure of each component respectively are

(Molecular weights N2 : 28, O, : 32, Kr : 84)

050 oddo 3¢ FGPO gy, Doibadd (g8 oMo WPEP™ Na 163 %, 02 : 16 %.
Kr: 21 %. oo Do P atm 90w, DB edu¢aadn gy, ar&s o SE0™ .
(esgveorore No : 28, 02 : 32, Kr: 84)

Options :

2.25Patm. 0.5 P atm and 0.25 P atm
2.25P atm, 0.5 P atm 0600 0.25 P atm

1LV



0.75Patm. 0.17 P atm and 0.08 P atm
0.75Patm, 0.17 P atm 560350 0.08 P atm

2. %
0.63Patm,. 0.16 Patm and 0.21 P atm
0.63 P atm. 0.16 P atm 60350 0.21 P atm
3 %
0.5Patm. 0.3 Patm and 0.2 P atm
0.5 P atm, 0.3 P atm 2500350 0.2 P atm
4. ®

Question Number : 129 Question Id : 719650449 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

How many grams of Cu(NO, )2 1s needed to get 1 gram of copper?

(atomic mass Cu=63.5, N=14, 0= 16)

1 (P30 5908 FotoddBd D), PSww Cu(NO; ), 9850802

2

(DSSe 55078 Cu=63.5, N=14,0=16)

Options :

1.00
1. ®

2.00
2. %

1.95
3. %

2.95
4.

Question Number : 130 Question Id : 719650450 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is not true about atomic mass?
st o s f o
DG (653078 (000D & $obd P O Veso ?
Options :

5 : : e
The atomic mass of an element 1s expressed relative to "“C 1sotope of carbon.

28 SaPO¥e CInE). HOSIPEL (3073 Sﬁdgé O30%y, 120 oreSDad FHZor Dend@d

1%
Atomic mass of Na 1s 23.
FEode DS Qadgoes 23’

2. ®
The atomic mass of an atom is obtained by taking sum of atomic masses of
different 1sotopes of the element.
28 APUFIS Do2ododd DG DVEYL dIE), DS GS50rH0 dndo &
P e Qg DUSTEL QeSsTPEP DOMEIodzttiol.

3.9
Atomic mass used for an element 1s the average atomic mass obtamned by taking
mto account the natural abundance of different isotopes of that element.
2.8 Srofe CInE) HOSER (adg0PER), & IPOFIS Doolodd Dres AR DI
QWS DL ISy, it D Geis0PER DOMBET VS BuE B YEo 2ot

4. %

Question Number : 131 Question Id : 719650451 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following 1s not an extensive property?

&8 §ob LIS B DPes SSYS0 TE?

Options :



Volume

050057730

1. ®

Entropy

oJolS)
0. &

Heat capacity at constant volume

D8 E0ID0SEde ¢ GG
T '

Molar heat capacity at constant pressure

S HliSo 3¢ Irerd &N
4.9

Question Number : 132 Question Id : 719650452 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
If the equilibrium constant for the reaction 2SO> + 0> = 2S0s 1s 64 at 500 K. then
the equilibrium constant for the reaction SO3 = SO» + %Og at the same temperature
18
500 K, &rded &6 2802 + 02 = 2805 K05 Glng) e3P0 D08 64 ©ond o

1 ;
&ﬁf@@ &5@ SO = SO + E @) xf)(‘.ﬂg quﬁ& 1(3553@“%.)@3 @O‘ogo oJoth

Options :
8
1. ®
1
8
2.¢
32



Question Number : 133 Question Id : 719650453 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the pH of a 10°M solution of HC1?

10 M HCI graSeso gy, pH odoth?

Options :

1.1
1. #*

8.0
2. ®

5.8
3. %

6.9
4.

Question Number : 134 Question Id : 719650454 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Match the following methods for treating hardness of water with their corresponding

reagents used

&8 5ol DAL F0S 280505 DO DONESER0 a7°C Neo®eh SG5eed” BBNGWols

b

List-1 List-I1
0e3K -1 DEIE-II

A) Treatment with washing soda I) Ca(OH),

PRl Weres” Wy wGNto

B) Calgon’s method IT) NaxCOs
SO0 DOS

C) Clark’s method [IT) NaAlS104
gS& AL

D) Zeolite / Permutit process I[V) NagPsO1s

B GT00E / S HES

The correct match 1s

OGS 2385
Options :
A B C D
IT I il v
1. %
A B € D
I IV I 11T
2.¥
A B C D

I II IV I

3. %



A B & D
II I IV

i

4. %

Question Number : 135 Question Id : 719650455 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The product D in the following reaction sequence 1s

&8 808 B0 BT DG &3Sy 0 D 2B?

P fﬁu;]tﬁ
Na,CO, SO, i Na,CO, B e]emeilltalt sulfur S C I, D
_ 1ea
H,O A
Options :
NaxS»>0s
1. ®
Na>S0s
2. &
NarS40¢
3. ¢
NaHCO;
4. %

Question Number : 136 Question Id : 719650456 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Hybridization of boron in diborane 1s

BeSOS” eSO Gy, 0o80¥GE0

Options :



1. ®
sp’
2. %
sp’
3.¥
3
spd
4. %

Question Number : 137 Question Id : 719650457 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which one of the following statements about allotropes of carbon 1s incorrect?

TE)S TR0, EFaPeBTTD (100D & §ob TV RO NI D .

Options :

Graphite 1s an electrical conductor but the conductivity is direction dependent

PR ¥ DD TPr%o 520 PED S OFeer0Se

1. %
Diamond is more dense than graphite
Godoots TPRES 5ol @68 FPofde Bud (65yEad )
2. ®
Diamond 1s metastable
GaSols TBVGSE
3% )
Graphite 1s thermodynamically less stable allotrope of carbon
@@5 h@ﬁ@éoﬁ’ @&&ﬁ’) @(‘.’)@50 (/TN ?62)5 03.»05&_ GFaret®lo
4.9

Question Number : 138 Question Id : 719650458 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Which among the following is not the components of photochemical smog?

&3 $o6 IS O FoD EFADNS iS00 CIVY), BDHVEESD T

Options :
NO,
1. %
Formaldehyde
PO Oard
2. %
S0,
3.
O3
4. %

Question Number : 139 Question Id : 719650459 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

How many geometrical isomers are possible for the compound with molecular

tformula C>FCIB1I?

ogdardoy e CoFCIBIT D& ¢ard8 Pdgdly ¢ Fidyagen o)) ?

Options :
Four
L SV eV
1%
Five
RoAY)



Six

Lo
3. ¢
Eight
RO
4. %

Question Number : 140 Question Id : 719650460 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

2-bromopentane is heated with potassium ethoxide in ethanol. The major product 1s

BETSS’ 2- ST BFDEIDD FEFPROHD BTTYELS’ F& BRSE eISYE DI &5 0 000
Options :

frans-pent-2-ene

\:d_.}”rf)ﬂ) -old =2-880

1.
2-ethoxypentane
2-%(&5"@;}330635
2. %
pent-1-ene
Dotd-1- S
3. %
3-ethoxypentane
3-9@5"%‘33}0@35
4. %

Question Number : 141 Question Id : 719650461 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Reaction of 2-methylbuta-1, 3-diene with O; and Zn-H>O, gives

2-200S argl -1, 3-585S O3 0050 Zn-Hr0e8* $585:5 08, sd8)H05036

Options :

CHsCOCH;s + 2COz1
1. ®

CH3;COCHO + 2ZHCHO
2.

CH3;COCHO + 2HCO;H
3. %

CH3;CO>H + 3HCO2H

4. %

Question Number : 142 Question Id : 719650462 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the distance between Na™ and Cl™ ions in sodium chloride crystal is <Y’ pm. The

length of the edge of the unit cell will be

FEO%en §06 0355 Na™ ook €l edirow Sy drde Y’ pm. 0Rrde 26
cfm§3r o) 33"(.‘331) oJoth ?

Options :
4Y pm
1.
2Y pm
2.
— pm
4



— pm
ZP

4. %

Question Number : 143 Question Id : 719650463 Question Type : MCQ Option Shuffling : Yes Display Question Number

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Correct order of osmotic pressure of the following solutions 1s
(1) 30 gm L7t of glucose

(i) 60 gmL7! of NH,CONH;

(i) 80 gm L! of glucose

(iv) 58.5 gm L7! of NaCl

St Sotd B geaterd TPASEPL CONE), Garadddes AGTPL HOAS Edvo
(1) 30gmL o §rss

(11) 60 gm L™ & NH,CONH,

(i) 80gmL'e© §rsl

(iv) 585gmL'e NaCl

Options :

(i) < () < (i) < (iv)

1. #
(1) < (ii1) < (i) < (iv)
2. ¢
(1) = (1v) < (11) < (111)
3. %
(111) < (1) < (1v) < (11)
4. %

: Yes Is

Question Number : 144 Question Id : 719650464 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0



The osmotic pressure of 0.1 M monobasic acid of pH 3 at 27 °C1s

27 °C &R &6 0.1 M o8 265 &30 Gl pH 3 ©000s Gareliden Hikde oot

5}

Options :
2.42 atm
242 53&50&
1.¢
242 4 atm
242 4 OD@D&
2. %
60.6 atm
60.6 ol)éjﬂ&
3. %
50.9 atm
50.9 ojéiu&
4. %

Question Number : 145 Question Id : 719650465 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which one of the following has the highest molar conductivity?

&1 800 TS B WBHE IPOSE THFEBD EOAE?

Options :

Penta carbonyl iron(0)

Dot 5°G 35 06 (0)

Hexaqua-chromium (IIT) bromide

Eeywseg — §Tnohen (1) 5

2. %



Tetraamme-dichloro-cobalt (IIT) chloride

SEPARS- BEE — SordS () §O6

potassium hexacyanoferrate (II)

FEFRONE TFFYOCHSROE (1)

Question Number : 146 Question Id : 719650466 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

For a reaction A — B, the average energies of A and B are 30 and 60 kcal/mol
respectively. Energy of the activation for the backward reaction 1s 93 kcal/mol. The

energy of activation for the forward reaction is

w8 W05 A - B, A 00N B 0 1000 5000 S0P 30 <0000 60 keal/mol . S0
WGy g, eSesed 48 93 keal/mol. 0B HENL S8y CINE), &Besd 45 oot ?

Options :

30 kcal/mol

123 kecal/mol

2.

153 kcal/mol
3. %

90 kcal/mol
4, %

Question Number : 147 Question Id : 719650467 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Which of the following reaction is auto catalytic?

806 B30 B D30%0 &S SEIIH?

i}
Options :

¢, H,cocl + C,H,—2% , ¢ H.CcOC,H, + HCI + AlC],

ANH, + 50, —PL 5 4NO + 6H,0

2, ®
'_RhC.‘I[ PPh, _|3q?
CH,=CH,+H,—| | yCH,-CH,
3. %
5C,0,” + 2MnO,” + 16H" - 10CO, + 2Mn* + 8H,0
4. ¢

Question Number : 148 Question Id : 719650468 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Why 1ron pyrite is not the 1deal choice of ore for the extraction of iron?
DS O, Geaso DS PBE TERY) oS VBIE (&EBe3058) 5260, odotiuBo?

Options :
It produces polluting gases

5P TPOS0HL & YD Wl

Thermodynamically not fessible

%59;1 Hed%olP i)“f:)ﬁo 5o



Highly stable

@@_ﬁo@ rz._)(joﬂ“ ool

3. %
Difficult in roasting process
203 DA EQo

4. %

Question Number : 149 Question Id : 719650469 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Mixture of concentrated HC1 and HNOs made 1 3:1 ratio contains

mres HCT 200080 HNO; 3:1 Q0)3)8ed” S0ke0bes 0o $O0SE

Options :
ClO;
1. ®
NOCI
2.¢
NCl3
3. %
N>Og4
4. #

Question Number : 150 Question Id : 719650470 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



In the following reaction, products x and y respectively, are

P,+10S0,Cl, >x+7y

&8 800 SBeS", SSVT?) L0 X OO Y SERIF , 20D
P,+10 SC’ECI.‘2 —>XTYy
Options :

PCl; and S>Cl»
PCls 206030 S»Ch

1. %
PCls and SO3
PCls5 2206080 SOs
0. &
PCls and SO»
PCls5 2006030 SO»
3.¢
PCls and S>Cl>
PCls 560820 S:Cl
4. %

Question Number : 151 Question Id : 719650471 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In the octahedral crystal field, the correct order of splitting in Cr** complexes for

I, H,O, NH; and CN™ 18

OFrES 0385 80 I, HoO, NH; 5000 CN™ SrreGe) Cr'F 0 Fore dafeedo
9055 Esossw

Options :



CN<NH3=H:O<T

1. ®
NH:<HO<I <CN
2. %
CN <I <H»O < NHs
3. %
I <H2O<NH3;<CN™
4.¢

Question Number : 152 Question Id : 719650472 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The coordmation number and oxidation state of Cr in K,[Cx(C,0,);] are

respectively

K;[Cr(C,0,);] & Cr cingy 003305 Dotdg 0050 e38y58e 3 SSurr

Options :

3 and 3
3 506050 3

3Jand 0
0b60%n 0

tad

2. %

6 and 3
6 0605w 3



4 and 2
4 06030 2

4.%

Question Number : 153 Question Id : 719650473 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Match the following

List T List-1I
A) Natural rubber I) Free radical polymerization
B) PVC IT) Side chan alternative arrangement
C) Terylene IIT) cis—Polyisoprene

D) Syndiotactic polymer  IV) Condensation polymerization

&3 S0l TER) DGl

Ly

DQE- 1 s - 11
A) e Seaybo I) ?‘355‘3‘1,) FAOOE FOI0EGE0
B) 20 (PVC) IT) S35 o T 0 @08
Q) &edo ) &0— POV

D) 0oGairer8eds pOS IV)  Dedudsd 0850

The correct match 1s
OGS 22

Options :

1. #

III II v I

2. %



IV II I III

Question Number : 154 Question Id : 719650474 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Starch. when boiled with dilute sulphuric acid under high pressure. gives compound
A. On prolonged heating with hydroiodic acid, A gives compound B. What 1s the

compound B?

FE\DH ©BE HiSe $¢ DOS Dury0E Yot o JSYH A ©F DAYFIeD

Lo
!

FRYD. A’ D TEORFES @t b FOBAP J& DISYYD B o IS
SX008. ‘B’ @3 0oy ¥Se aned?

Options :
1. ¢

HO-CH, — (CHOH), - CHO
2.8

HOOC —-(CHOH), —COOH

HO—-CH, — (CHOH), - COOH

Question Number : 155 Question Id : 719650475 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



The dipeptide given below 1s used as

&5 $00 BILRIES BRIDE o) DBolP SHCIFINEND

O
HO OMe
N
H
O NH, 0
Options :
Detergent
&@Qoﬁ
1. #
Preservative
ﬁ@ﬁaﬁgow
2. ®
Sweetening agent
€35EG 0
3.
Antioxidant (Diug)
'&?gl:}éé% QG0 (Boeth)
4. %

Question Number : 156 Question Id : 719650476 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which one among the following will undergoes faster Sx! reaction?
B
&2 S0l eSS’ 00O Sy WG P Pl

Options :



o
1. ®
Br
O/j\fcﬂ3
2.8
Br
S
CH;
3. %
H:C Br
U
4.

Question Number : 157 Question Id : 719650477 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Major product in the following reaction sequence is

&8 800 DBHS IBOS” 251G 9B (H5oS) &B)Sy0 06?

oH (i) NaOH(aq). CH;l

fnial
(i) Anhyd. AICl;, CH;CH, COCl
Age
(iii) NaBH,
Options :
OCH;
CH,
HO

1.V



H;CO OH

2. %
OCH;
OH
. CH;
OCH;, OH
CH;
4. %

Question Number : 158 Question Id : 719650478 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Among the following reagents, which one can converts ester into aldehyde?

54 800 FEFOS 0O DHEDH WFFEP STFSHOED

Options :

AlH (1—Bu)

1. %

Sn + HCl

2. %

H> / Pd, BaSOq4



DIBAL-H

Question Number : 159 Question Id : 719650479 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The correct set of reagents which convert acetylene to but-2-enal are
£ ot o w0 o 3 vy
808 0B o) OO DD RGOS 2003¢5-2- ST ST S Euron?
Options :

H,S0,.NaOH

1. %
H,0/Hg" /H". dil. NaOH
(DD:S)
2.v
H,O/H", conc.NaOH
(&)
3. %
H,0. KMnO, /OH"
4.%

Question Number : 160 Question Id : 719650480 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which one among the following statements 1s true?

&e 800 g’ DO DO

Options :
Aliphatic diazonium salts are stable.

WORESS Ged 0N OSETREN YBorP GolIow



Aniline cannot be converted mto phenol via its diazonium salt.

G500 ©e5E3:30 TPRT° VTR, TP SIPGED

2. %

Aliphatic diazonium salts liberate nitrogen gas quantitatively.

OPES 5o 050 VaSERLN DOSTERES) Kol JETHRAD DL SPOw

Aniline cannot be converted into fluorobenzene via its diazonium salt.

T Q0T RSN TPRTP AOR, T s TGS

4, %



